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will separate questions for Bangla Medium and English Version specifically in Bangla and English.

Note: This sample question has the translation for better understanding. However, during the admission test there
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English

Full Marks-25

Part-A: Reading

Read the text and answer questions 1 & 2.

I live in a small village in Bangladesh. Although this place is remote and not so developed, visitors love it for
its beautiful, green landscape. Its environment is as refreshing as the gentle morning breeze. The people living
here are friendly. They work as hard as an ant gathering its harvest. If you visit my village, you can enjoy the
colourful cropland, the fresh food and the warm hospitality of the villagers. Especially you can taste the
mangoes which are as sweet as honey. A river surrounds the village like a snake. There is a market in the heart
of the village. Whenever you visit there, you see people are as busy as bees. You can move anywhere at any
time, as it is as safe as your home. It is also one of the cleanest villages in this area. The only difficulty that
you may face is a power cut. Very often, the night is as quiet as a sleeping baby here. But then again you can
enjoy the beauty of the night sky. So, if you plan to spend some time in nature, my village will be a good
choice.

1. Write synonym of the following words. 1X5=5

Words Synonym/similar words
(a) remote

(b) beautiful

(c) Especially

(d) see

(e) difficulty
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2.

(a)

(b)

(c)

(d)

(e)

3.

Answer the following questions in brief. 1X5=5

What do you find most attractive about the village described in the passage?
Answer:

What is the only difficulty that a visitor may face visiting the village?
Answer:

How do the villagers contribute to the charm of the village?
Answer:

Why do you think the writer compares the villagers to ants and the market people to bees?
Answer:

“Very often, the night is as quiet as a sleeping baby here.”- Explain in 2/3 sentences.
Answer:

Part-B: Grammar

Fill in the blanks of the following text with prepositions. 0.5X6=3
Scientists believe that Bangladesh will be worst affected a) __ global climate change. The unpredictable
rain and drying out b) __ rivers have made boat movement heavily restricted. As a result, many river gypsies
are changing their lifestyle ¢) __the context of changed reality. They are thinking d)__ living permanently
e)__ land. The authority feels that river gypsies need help f)__ survive in the mainstream population.

Answer: | g) b) c) d)

) f)

Change the following sentences as directed in the blanks. 1X3=3
(a) Dhaka was founded by the Mughals in 17t century. (Make it active)

Answer:

(b) The Mughals governed the region during the early modern period. (Make it interrogative)

Answer:

(c) Everybody knows it. (Make it negative)

Answer:
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5. Complete the following text with suitable verbs in the box with their right form.

0.5X8=4

‘ shine

‘ undergo ‘ be

‘ shoulder ‘ be

‘ establish ‘ want |

It goes without (a) ——- that most of the parents (b) ——- to see their children (c) ——- in life. For
this, they are always ready (d) ——- any risk. But the tragedy (e) ——- that our boys and girls want
(f) ——- in a short cut way. They think that it (g) ——- better if they could have established

themselves without (h) ——- hard work.

Answer:

a)

b)

d)

f)

9)

h)

Part-C: Guided Writing

6. Suppose, you are Manik. A social organization in your locality is hiring some volunteers for a fund
raising event. Write an email to the coordinator of that organization to be a volunteer for the event.

The email can be sent to abcd123@charity.org.bd.

5
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Mathematics (7f9®)

Full Marks-25 (s{fi9-3¢)

Short Questions: 1X10=10
1. What is the smallest natural number? (T (®B FrefF Fe F?)

Answer (T&9):

2. What is the sum of squares of 3 and 4? (© ¥R 8 ¥4 (T o Fh?)

Answer (T&9):

3. What is the formula for compound interest? (v&qf@ AT a F?)

Answer (8@9):

4. What is the SI unit of length? ((ATHR @T@2 4TS F?)

Answer (8@9):

5. What is the relation between 1 mile and kilometers in the British-Metric system?

(Ao=-wiGs smfere » W3 W32 FENNoR 97 W T1F F2)

Answer (8€9):

6. What is the HCF of 24 and 36? (28 @32 ©Y @F e FE?)

Answer (S€9):

7. What is the LCM of 6 and 8? (Y @32 b T #I® F97?)

Answer (8@9):
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8. What is the formula for the area of a rhombus? (FXCT (FaHETR 3q F?)

Answer (T€9):

9. What is the median of the numbers 5, 10, 15, 20, 25? (€, 0, 3¢, 0, ¢ FASTEF VGF F97?)

Answer (8&9):

10.  What is the circumference of a circle with a radius of 7 cm? (a Gf¥l IANLT @SB Jred Affe
F97?)

Answer (T€3F):

Broad Questions 2X5=10

1. A shopkeeper sells an item for TK500 at a loss of 10%. Find the cost price.
(GFE AP G A% So% FOr® ¢oo BIFR [ T 1 A Ga T o7 F97)
Answer (8@9):

2. Solve the equations: 3x + 2y = 12 and 3x + 2y = 12. (3x + 2y = 12 Q3R 3x + 2y = 12 N4 FF 1)
Answer (T&9):
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IQ-Based Questions 1X5=5

1. What comes next in this sequence? 2, 4, 8, 16,32, ___? (98 @GR TS TP PR, 8, b, Db, 0, ?)
Answer (T€9):

2. Which number is the odd one out: 5, 7, 11, 14, 17? (F6a FLAR T @FFO F&F: €, 9, 3, 38, 337)
Answer (T€9):

3. If the sum of three consecutive numbers is 72, what are the numbers?
(T foas «IARIRRT AR @F 92 2, S@ AT FT F?)
Answer (8@9):

4. What comes next in this sequence? A, C, E, G, ___? (492 TGH *79%! @4 9 27 A, C, E, G, ___?)
Answer (T€9):

5. If a train travels at 60 miles per hour, how long will it take to travel 180 miles?

@™ @I (G TR Yo W2 TS 5T, O dbro T2H (@ F© AN (73?)
Answer (8@9):

HAIYENSEE - do

Full Marks-10 (3{f¥19-0)

1. What was the name of the military force formed to fight for Bangladesh’s independence?

(AT FIATOR Ty AfFe AN Az T F fze1?)
Answer (&9):

2. What was the code name for India's military intervention in the Bangladesh Liberation War?
(JECR JEYTa OIed AT TJCHCAF ACHeT A Fl #1?)
Answer (8@9):

Page 9 of 13




. Who is currently leading Bangladesh's interim government following the resignation of Sheikh
Hasina in August 2024? (2038 IR S0 (14 AR 2SI A7 TSN ALBAACR

RIS AP (97 (& MCoa?)
Answer (8@9):

. What is the name of the new political party formed by student leaders after the 2024
revolution in Bangladesh? (JIGENMTA 2038 AR RART 79 2@ (TOIWA 7RI Af6® Tgw Ao
W I F1?)

Answer (8&9):

. Which European leader declined an invitation to attend the 50th anniversary summit of EU-
China relations in Brussels? ((FIF ISCANT (TS JICTECT 336-Die FFF oo AR A
AT CITAICTS SN SO FCARCET?)

Answer (T€9):

. Which country recently imposed a 25% tariff on all steel and aluminum imports?

(TS (@ @ @ TS Q3R AN i SoF 2% ©F A7 FACR?)
Answer (8€9):

. What is the name of the legislative body of Bangladesh? (JIFNTACA SETHSR AN F1?)
Answer (8€9):

. According to the Constitution of Bangladesh, what are the two primary ways a person can
acquire Bangladeshi citizenship? (IR FRLT TPACH, GG J& AT NG
TECE Yo AL SR F1?)

Answer (8@9):

. Which film won the Best Picture award at the 97th Academy Awards in 2025? (03¢ T
SIS IO FHE (T =R G 29 77 fersies?)
Answer (8@9):
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10. Who were the recipients of the 2024 Nobel Prize in Physics? (038 e *MILRWR (AT

FIFR AN FRA?)
Answer (T&9):

Science-20 (fReei9-20)

1. Answer the following questions in one word. (93 U T€ A1) 1X3=3
i. What is the process by which water moves through a plant from roots to leaves? ((FI<
Aferar M A 2z T (AF o be T?)

Answer (T€9):

ii. What is the unit of force? (IEF GFF FI?)
Answer (T€9):

iii. What is isotope? (Isotope ?)
Answer (T€9):

2. Answer the following short question 2x4 = 8
i. Write the properties of acids. (SCFa &% fe14 1)
Answer (8@9):

ii. Write the role of osmosis in plants. (st osmosis 9 ¥ fer< 1)

Answer (S€9):

iii. Write the difference between a conductor and an insulator. (if¥d1zF 8 WBAFF Wy LT
foret 1)

Answer (S€9):
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iv. What is the significance of ‘g’ (acceleration due to gravity)? ‘g’ (V@RFII&Te gad)-q3 wie=R
F1?)
Answer (T€9):

3. Descriptive Questions 3x3 =9

i. Calculate the weight of an object with a mass of 10 kg on Earth. (Take g=9.8 ms-2).
(7fedITs 10 & o@FF G I7F o [ F91 (g = 9.8 ms2) 1)

Answer (T&9):

ii. Write a balanced chemical equation for the reaction between hydrochloric acid (HCI) and
sodium hydroxide (NaOH). What type of reaction is this? (F2gHifEs wwifTe (HCl) 8 Enfeas
FIGRART (NaOH)-97 ey f[fra Afwsad @121 «ft @9 wqea [{fwwm?)

Answer (8€9):
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iii. Process Description with Diagram; (23S i ¢ ooz e +3:)

Mitosis Cell division (IBLBIFHT (¥ i 1)

Show the proper arrangement of the mitosis cell division from the with mentioning each phase name.

(&fsfs «esr A Srare @ MIGIF @17 Krerewms Ao e ¢is )

Answer (8&9):
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